



















2 WHEELER REQ. PROP. 40 40	P. APPROVED mended in	he accompaning -2/161/1060	APPROVED The Plans amended in
7.8 38 8 38	1st, 2 flat no. 1, 5, 9	HALL KIT./DIN. CHILD RM. W.C. BATH PASSAGE INT. WALLS COV. TERRACE	4.40 X 2.90 = 12.76 SQ.MT. 2.90 X 3.00 2.90 X 3.30 = 19.29 SQ.MT. 0.60 X 1.70 2.90 X 2.75 = 7.98 SQ.MT. 0.90 X 1.10 = 0.99 SQ.MT. 2.05 X 1.10 = 2.26 SQ.MT. 1.15 X 1.10 = 1.27 SQ.MT. 1.15 X 2.85 = 4.28 SQ.MT. EXECUTIVE
520.57 SQ.M. 245.54 SQ.M. 189.30 SQ.M. SQ.M. 955.41 SQ.M.	flat no. 2, 6, 10	HALL KIT./DIN. CHILD RM. N.C. BATH	TOTAL = 49.99 SQ.MT. FORM OF STATEMENT 3) 4.40
•		PASSAGE NT. WALLS COV. TERRACE	1:15 X 1.10 = 1.27 SQ.MT. = 1.16 SQ.MT. 1.50 X 2.85 = 4.28 SQ.MT. TOTAL = 50.67 SQ.MT. TOTAL = 50.67 SQ.MT. AREA STATEMENTS:- 1. Area of plot (Minimum area of a,b,c to be conside a) As per ownership document (7 b) as per measurement sheet c) as per site 2. Deductions for
	flat no. 3, 7, 11 & 15	d & 4th FLOOR ALL T./DIN. HILD RM. .C. ATH ASSAGE T. WALLS DV. TERRACE ICL. BALCONY	(FORM OF STATEMENT 3) 4.40
PROPOSED SIT	Е НА	& 4th FLOOR LL /DIN.	(FORM OF STATEMENT 3) 4.40

8 15	BATH	2.05	X	1.10	=	2.26	SQ.MT.
	PASSAGE	1.15	X	1.10	=	1.27	SQ.MT.
	INT. WALLS				=		SQ.MT.
	COV. TERRACE	1.50	X	2.85	=	4.28	SQ.MT.
	ENCL. BALCONY			TOTAL	=	50.67	SQ.MT.
		2.90	X	1.00	=	2.90	SQ.MT.
				TOTAL	=	53.57	SQ.MT.

PROPOSED SITE

1st, 2nd	d, 3rd & 4th FLOOR	(FORM	(FORM OF STATEMENT 3)					
flat no. 4, 8, 12 & 16	HALL KIT./DIN. CHILD RM. W.C. BATH PASSAGE INT. WALLS COV. TERRACE ENCL. BALCONY	4.40 2.90 0.60 2.90 0.60 2.90 0.90 2.05 1.15	X X X X X X X X X X X X X X X X X X X	2.90 3.00 3.30 1.70 2.75 1.10 1.10 1.10	NEN. = = = = = = = = = = = = = = = = = = =	12.76	SQ.MT.	
				TOTAL	=	52.89	SQ.MT.	

ATION PLAN

4th	FLOOR (FORM O	F STATEMEN	VT 3)_			
	HALL	4.40	X	2.90	=	12.76	SQ.MT.
	KIT./DIN.	2.90 2.90 0.60	X X	3.00 3.30 1.70	=		SQ.MT.
flat no.	W.C.	0.90	X	1.10	=	0.99	SQ.MT.
13	BATH	2.05	X	1.10	=	2.26	SQ.MT.
	PASSAGE	1.15	Χ	1.10	=	1.27	SQ.MT.
	INT. WALLS				=	1.16	SQ.MT.
	COV. TERRACE	1.50	Χ	2.85	=	4.23	SQ.MT.
						42.01	SQ.MT.
	OPEN TO SKY TERRACE	2.85	X	2.75	=	7.84	SQ.MT.
	TERRACE			TOTAL	=	49.85	SQ.MT.

4th	FLOOR (FORM O	F STATEMEN	NT 3	1			
	HALL	4.40 1.50	X	2.90 0.45	=	13.44	SQ.MT./
	KIT./DIN.	2.90 2.90 0.60	X X	3.00 3.30 1.70	=	19.29	SQ.MT.
flat no.	W.C.	0.90	X	1.10	1=	0.99	SQ.MT.
14	BATH	2.05	X	1.10	=	2.26.	SQ.MT.
	PASSAGE	1.15	X	1.10	=	1.27	SQ.MT.
	INT, WALLS COV. TERRACE	1.50	X	2.85	==	1.16 4.28	SQ.MT. SQ.MT.
						42.69	SQ.MT.
	OPEN TO SKY TERRACE	2.85	X	2.75	=	7.84	SQ.MT.
				TOTAL	=	50.53	SQ.MT.

- b) Adjustment of 2(b), if anb) Balance Proposed -
- 5. Net Plot Area [3-4(c)]
- 6. Recreational Open space
 - a) Required
 - b) Proposed
- 7. Internal Road Area
- 8. Plotable area (if applicable)
- Built up area with reference to B
 (Sr. No. 5 x Basic FSI)
- 10. Addition of FSI on payment
 - a) Maximum permissible Prem Road Width / TOD Zone.
 - b) Proposed FSI on payment
- 11. In-situ FSI / TDR loading
- a) In-situ Area against D.P. R b) In-situ Area against Ameni [2.00 or 1.85 x Sr. No. 4
- c) TDR Area 0.40 (already pur
- d) Total in-situ / TDR loading
- 12. Additional FSI area under (
- 13. Total entitlement of FSI in
 - a) [9 + 10(b) + 11(d)] or 12 w
 - b) Ancillary Area FSI upto 6 with payment of charges.
 - c) Total entitlement (a + b)
- 14. Maximum utilization limit FSI Permissible as per Road {(as per Regulatio no. 6.1 or 6.2 or 6.3
- 15. Total Built-up Area in proposa
 - a) Existing Built-up Area.
 - b) Proposed Built-up Area
 - c) Total (a+b)
- 16. F.S.I. Consumed (15/13) (sho
- 17. Area of Inclusive Housing, if
 - a) Required (20% of Sr. no
 - b) Proposed

CERTIFICATE OF AREA:-

certified that plot under reference was si & the dimension of sides etc. of plot stal area so worked out tallies with the area Records Department/City Survey record



SIGNATURE OF LICENSED ARCHITECTS / E

owner's declaration

I/We undersigned hereby confirm that I/Municipal Corporation I/We would execute would execute the work under supervisional quality and safety at the work site.

S.L. Rutel

Coaffire Chairman - Shraddha i Shradha Masshantiae Bogiá

Owner (S) name and signature

SUMIT V. SANKHLA
B. ARCH.

REG. NO. CA/2014/6556





		VA - SHANTIBHAI - muni1 - 2017 DRG. :- 1/2 SCALE : AS SHAST DATE :- 29 / 08 / 2021 DRN.BY:- AR. SUMIT CHD.BY:-		
		Ngshik - 422011 Mob.: 9403950945 e-mail - syomarchitects2227@gmail.com		
		GR. flr. 'RANGOLI Bung., Near Patidar Bl General Vaidya Nagar, Pune Road General Vaidya Nagar, Pune Road		
		Architects & Interior Designe	rs	
TOTAL =	30.00	- Vyom Archite	cts	
2,70	50.53 SQ.MT.	ARCHITECT'S SIGNATURE RETRUCTURAL SING SIGNET	R 105	
	7.84 SQ.MT.	REG. NO. CA/2014/65563 REG. NO. CA/2014/65563 FOR AADHAR ENGIN		-
2.00	42.69 SQ.MT.	SUMITAL SANKHLA B. ARCH. FOR AADHAR ENGIN	NEERS	3
285 =	1.16 SQ.MT. 4.28 SQ.MT.	Condition of the second	Maria Company of the	
1.10 =	1.27 SQ.MT.	Owner (S) name and signature	-	5 40
1.10 =		Marie Marsh Renga Bog Assachted Nasik Road		
1.10 =	0.99 SQ.MT.	TO CHAIRMAN - SHRADDHA DEEP CO-OP. RESERVED TO CO.	-4-2003	10
3.30 = 1.70	19.29 SQ.MT.	S. L. Keetel 2 43.	23 2003	3] -]
3.00	71102000	11-5	SG TC	1)01
0.45 =	13.44 SQ.MT./	would execute the work under supervision of proper recinical parasitions of quality and safety at the work site.	SK/NSK	Jan 1
2.90		I/We undersigned hereby confirm that I/We would active by plans statione plans also live Municipal Corporation I/We would execute the structure as per sanctione plans also live would execute the work under supervision of proper tecnical person so as to present the		10
		owner's declaration I/We undersigned hereby confirm that I/We would abide by plans sanctioned by Nashik I/We undersigned hereby confirm that I/We would abide by plans sanctioned by Nashik	Co op	
	1	SIGNATURE OF LICENSED ARCHITECTS / ENGINEERS		-
		No.		
TOTAL = [49.85 SQ.MT.	On tella		
2.75 =	7.84 SQ.MT.	Records Department/City Survey records.		
	42.01 SQ.MT.	& the dimension of sides etc. of plot stated on plan are as measured on side area so worked out tallies with the area stated in document of ownership/T.P.scheme		
2.85 =	4.28 SQ.MT.	certified that plot under reference was survived by me on05/12/2020 & the dimension of sides etc. of plot stated on plan are as measured on sile &		
= =	1.16 SQ.MT.	CERTIFICATE OF AREA:-		
1.10 =	1.27 SQ.MT.	b) Proposed		
1.10 =	2.26 SQ.MT.	a) Required (20% of Sr. no. 5)		
1.10 =	0.99 SQ.MT.	17. Area of Inclusive Housing, if any		
1.70	19.29 SQ.MT.	16. F.S.I. Consumed (15/13) (should not be more than serial no. 14 above.)	1.00	
3.00 3.30 =	19 29 SO MT	c) Total (a+b)	955.41	
	12.76 SQ.MT.	a) Existing Built-up Area. b) Proposed Built-up Area (as per 'P-line')	955.41	
_		15. Total Built-up Area in proposal.(excluding area at Sr. no. 17b)	-	
		{(as per Regulatio no. 6.1 or 6.2 or 6.3 or 6.4 as applicable) x 1.6 or 1.8}	-	
		Permissible as per Road width	3.2	
SINE =	52.89 SQ.MT.	14. Maximum utilization limit FSI (building potiential)		
		c) Total entitlement (a + b)	955.41	
100	2.90 SQ.MT.	b) Ancillary Area FSI upto 60% or 80% with payment of charges.	245.54	
TOTAL =	49.99 SQ.MT.	a) [9 + 10(b) + 11(d)] or 12 whichever is applicable	709.87	
	4.28 SQ.MT.	13. Total entitlement of FSI in the proposal		
	1.16 SQ.MT.	12. Additional FSI area under Chapter No. 7		
	1.27 SQ.MT.	d) Total in-situ / TDR loading proposed [11(a) + (b) + (c)]	189.30	
	0.99 SQ.MT. 2.26 SQ.MT.	c) TDR Area 0.40 (already purchased = 189.30)	189.30	
110	7.98 SQ.MT.	b) In-situ Area against Amenity Space if handed over [2.00 or 1.85 x Sr. No. 4 (b) & / or (c)]		
1.70		a) In-situ Area against D.P. Road [2.0 x Sr. No. 2 (a)], if any		
3.00	19.29 SQ.MT.	11. In-situ FSI / TDR loading	0.00	
	2.76 SQ.MT.	Road Width / TOD Zone. b) Proposed FSI on payment of Premium (0.50)	236.63	
		a) Maximum permissible Premium FSI - based on	220.62	
STATEMENT 3		10. Addition of FSI on payment of Premium		
		Built up area with reference to Basic FSI as per front road width (Sr. No. 5 x Basic FSI)	520.57	
TOTAL =	53.57 SQ.MT.	8. Plotable area (if applicable)	****	
1.00 =	2.90 SQ.MT.	7. Internal Road Area		
	50.67 SQ.MT.	b) Proposed	-	
	SO AT SO ME	a) Required		
1	4.28 SQ.MT.	6. Recreational Open space		

X 0.	45 = 13.4	44 SQ.MT.		
) X 3.0	00			
X 3.3	30 = 19	.29 SQ.MT.		
X 2.7	75 = 7.9	8 SQ MT		
X 1.1	0 = 0.9	9 SQ.MT.		
X 1.10	0 = 2.20	6 SQ.MT.		
X 1.10	0 = 1.27	7 SQ.MT.		
	= 1.16	SQAAT	AREA STATEMENTS :-	
X 2.85	5 = 4.28	SQ.MT.	1. Area of plot	SQ. MT.
TOTA		SQ.MT.	(Minimum area of a,b,c to be considered)	
		SG.MI.	a) As per ownership document (7/12, CTS extract)	
			b) as per measurement sheet	473.25
			c) as per site	473.25
OF STATEM	MENT 3)		2. Deductions for	473.25
V 200		1	a) Proposed D.P./D.P.Road widening Area/	
X 2.90 X 0.45	= 13.44	SQ.MT.	Service Road/ Highway widening b) Any D.P.Reservation Area	
X 3.00			Total (a+b)	
X 3.30	= 19.29	SQ.MT.	3. Balance Area of plot. (1-2)	
X 1.70				473.25
X 2.75	= 7.98	SQ.MT.	4. Amenity Space (if applicable)	
X 1.10	= 0.99	SQ.MT.	a) Required	
X 1.10		SQ.MT.	b) Adjustment of 2(b), if any	
1.10	= 1.27	SQ.MT.	b) Balance Proposed -	
	= 1.16	SQ.MT.	5. Net Plot Area [3-4(c)]	473.25
2.85	= 4.28	SQ.MT.	6. Recreational Open space	
TOTAL	= 50.67	SQ.MT.	a) Required	-
1.00	-	-	b) Proposed	-
		SQ.MT.	7. Internal Road Area	-
TOTAL	= 53.57	SQ.MT.	8. Plotable area (if applicable)	-
	1		Built up area with reference to Basic FSI as per front road width (Sr. No. 5 x Basic FSI)	520.57
STATEN	AENIT 21		10. Addition of FSI on payment of Premium	320.57
SINIEN	IEINI 3]		a) Maximum permissible Premium FSI - based on	
2.90	= 12.76	SQMI	Road Width / TOD Zone.	236.63
3.00		- C	b) Proposed FSI on payment of Premium (0.50)	0.00
3.30	= 19.29	SQ.MT.	11. In-situ FSI / TDR loading	0.00
2.75	= 7.98	711.02	a) In-situ Area against D.P. Road [2.0 x Sr. No. 2 (a)], if any	
		SQ.MT.	b) In-situ Area against Amenity Space if handed over [2.00 or 1.85 x Sr. No. 4 (b) & / or (c)]	
1.10		SQ.MT.	c) TDR Area 0.40 (already purchased = 189.30)	
1.10		SQ.MT.	d) Total in-situ / TDR loading proposed (44(2))	189.30
1.10	= 1.27 \$		d) Total in-situ / TDR loading proposed [11(a) + (b) + (c)]	189.30
	= 1.16 S		12. Additional FSI area under Chapter No. 7	
	= 4.28 S	Q.MT.	13. Total entitlement of FSI in the proposal	
TOTAL	= 49.99 S	SQ.MT.	a) [9 + 10(b) + 11(d)] or 12 whichever is applicable	709.87
1.00	-	The same of	b) Ancillary Area FSI upto 60% or 80%	245.54
		Q.MT.	with payment of charges.	-
OTAL :	= 52.89 S	Q.MT.	c) Total entitlement (a + b)	955.41
			14. Maximum utilization limit FSI (building potiential)	0.0
	Marie To		Permissible as per Road width {(as per Regulatio no. 6.1 or 6.2 or 6.3 or 6.4 as applicable) x 1.6 or 1.8}	3.2
			The second secon	
			15. Total Built-up Area in proposal.(excluding area at Sr. no. 17b)	-
2.90	= 12.76	SQ.MT.	a) Existing Built-up Area.	955.41
3.00			b) Proposed Built-up Area (as per 'P-line')	955.41
1.70	= 19.29	SQ.MT.	c) Total (a+b)	1.00
1.10	= 0.99	SQ.MT.	16. F.S.I. Consumed (15/13) (should not be more than serial no. 14 above.)	1.00
3,15	= 226	. IW. 20	17. Area of Inclusive Housing, if any	
1.10	2,20	SQ.MT.	a) Required (20% of Sr. no. 5)	
1.10				
	= 1.27	SQ.MT,	b) Proposed	
1.10	= 1.27	SQ.MT.	b) Proposed CERTIFICATE OF AREA :- certified that plot under reference was survyed by me on 05/12/2020 Description of the control of the co	

ompaning

Q.MT.

Q.MT.

Q.MT. Q.MT. Q.MT. Q.MT. Q.MT.

Q.MT.

J.MT.

MT.

MT.

ИТ. ИТ. ИТ. ИТ. ИТ.

AT.

REVISED BUILDING PERMISSION PLAN OF RESIDENTIAL BUILDING IN S.NO.31/1B+2B, P.NO.21 OF DASAK SHIVAR, TAL. & DIST. NASHIK.

1/1

FOR - CHAIRMAN - SHRADDHA DEEP CO-OP. HSG. SOC. LTD.
MR. SHANTILAL LAXMAN PATEL

Stamps of Approval of Plan

APPROVED

As per the conditions Mentioned in the accompaining commencement Certificate No. 21155 dated 24/69/24

Executive Engineer
TOWN PLANING
Nashik Municipal Corporation
Nashik

1

AREA STATEMENTS :-	SQ. MT.
Area of plot (Minimum area of a,b,c to be considered)	
a) As per ownership document (7/12, CTS extract)	473.25
	473.25
b) as per measurement sheet c) as per site	473.25
2. Deductions for	